M=

PR HR % Z2E 1 A& B[ HUHE|2 s &
mE KEHER
BLKEMET HIVP(EE) L=4.00m 40 A 23 90m#1 5% (5%2.0m)
d40(V) vsSaq ok ®50 % ¢ 40 & 1
VSYaA bk ® 40 & 1
HiV 4k ® 40 & 20
BARS—hk BRI —b W=150S m 90.0
TUIFEET HREL U F ® 40 £ 1
b 40(V) BV yk(V) ® 40 & 2
TUH=E H=600 #8 1
KB L YRILfFESKEE ®40%x @20 & 8 a7 — R
ISRDIAk ®20 &l 8
HR LS KA HiVP  L=4.00m ®20 y:N 3 144 X 1.5m
$40x 20 HiTJLAR ®20 & 16
HiY 4k ®20 & 8
YRIILFESKiEGRURER) D 40%x ¢ 25 & 1 a7 — R
. ISRDaA Uk ® 25 & 1
Z:& iﬁzﬁf HiVP  L=4.00m 25 p. 1 144 X 1.5m
HiTJLR ® 25 & 2
HiV 4k ® 25 & 1
BARS—hk BRI —b W=150S m 135




FHE

PR HR % Z2E 1 R B[ HOH8EE 18R s &
mE KEHER
BLKEMET E-——IILEHREZT 40 m 90.0 70+16
® 40 AHZHILHEFE T (P)(V) ®50 = 1
AHZHIVEFETL (P)(V) ® 40 = 3
TSHFT ® 40 | 40
EHHR—b AR —k m 90.0 70+16+2
TUIRERET HUIFEET 40 £ 1
®40 WMENOREERCAAES 40 = 2
RUIFLUEHBRFT ® 40 H 2
AEFRET H=600 #A 1
BREHRE " 1
KB L YEILGKEERETL RJEH b 40%x @20 & 8 o7 — R
SISk MERCAAT ®20 = 8
® 40 szp 20 E-—ILEMmHRT ¢ 20 m 12.0 144 x 2.5m
TSHFT ®20 = 48
KB L YEILGKEERETL RJEH $50% ¢25 & 1 o7 — R
SISk MERLCAAT ® 25 = 1
d40% 25 E-—ILEMmHRT ¢ 25 m 1.5 11 % 2.5m
TSH:FT ¢ 25 m| 6
BARS—hk BRI —b W=150S m 135
WK ER
WIKEBR WIKEER T HBKERE | 0.045 H=L/2000




T T #H E X
2 7 w8 B | o 2 BEtHE
KIFELR

BeKEMERT H=800 | EFE (D 060 m 0.723 m 120 m = 521 m3

PR YE T H=800 | HFE®@ 060 m X 0723 m X 780 m 33.84 m3
= 39.04 m3 40

H=800 | BFE® 060 m 0.248 m 120 m = 1.79 m3

HHIERLIGARFYY)| H=800 | MFEQ® 060 m X 0248 m X 780 m = 1161 m3
&&t 13.39 m3 10

H=800 | EFE D 060 m X 0360 m X 120 m = 259 m3

BHERLI(REL)| H=800 | MTEQ 060 m X 0360 m X 780 m = 16.85 m3
ast 19.44 m3 20
RLAET 39.04 - 2.59 /0.9 = 36.16 m3 40
TRERET t=10cm | RC-30 060 m X 90.0 m = 5400 m2 54
RAsEHET t=3cm AL 060 m X 120 m = 720 m2 7
AEIBAsEHET t=4cm ol 080 m X 120 m = 9.60 m2 10
AsEhZE IR YNl T t=4cm 1200 m X 40 % = 480 m 48
AsTREhRBE R T t=4cm 080 m X 120 m A = 9.60 m2 10
RASEHE R T 060 m X 120 m B = 720 m2 7
AstHZERER: - 05 T A X 0.04 + B x 0.03 = 0.60 m3 0.6
HBAKYIBT |MHWEKRET H=800 | #rE(D 060 m X 0723 m X 135 m = 586 m3 6
WIERLIGREFYS)| H=800 | ErED 060 m X 0263 m X 135 m = 213 m3 2
MHERLIG4EL) | H=800 | WED 060 m X 0290 m X 135 m = 235 m3 2
BLIAUMET 5.86 - 2.35 /0.9 = 325 m3 3
TERET t=15cm | RC-30 060 m 135 m = 8.10 m2 8
FrERET t=12cm M-30 060 m X 135 m = 810 m2 8




R

IRHRA &% & B | HONE | EEHE| B 5 &
T RAT2 5 R4
BKEMET HPPE(EFZO{THZEE) L=500m ¢ 50 PN 14 70m 7 E% (5% 0m)
¢ 50(P) HPPE(E %) L=5.00m ¢ 50 PN 4 16m7# &% (% 4m)
HiVP(EE %) L=4.00m ¢ 50 PN 1 2m 7% (F%2m)
PVZaq vk (V—P) @50 1@ 1
AHEEE (P) 50 X 45° 1& 4
PED3A bk ¢ 50 {[E] 1
EREEHRANEME (P-V) @50 x 45° 1@ 1
AhEIEENV) 50 X 45° 1& 1
VEPEEMLS ¢ 50 {(E] 1
MCL=#> (SUS) @50 1@ 1
EFESZF—X ¢ 50 & 4
BRY—h BARY—bk W=150S m 88.0 70+16+2
TURFRET BRRTUF @50 = 2
¢ 50(P) BRLHFVTIkP) ¢ 50 & 4 A2a7it
TtUH=E H=600 #H 2
KB T YRILFERKIEGERUBER) @50 ¢20 1@ 5 a7 — KA
ISRYIAUk ®20 & 5
HRILS kA HiVP  L=4.00m ®20 PN 5 14 % 25m
$50% ¢20 HiTJLAR $20 1 10
Hiv 4k @20 1& 5
YRILFERKIEERUBER) @50 ¢25 1@ 1 a7 — kA
Lk ISRYIAUk @25 & 1
10) 50) l;<n¢7£<5 HiVP  L=4.00m ¢ 25 x 1 11 X 2.5m
HiTJLAR 25 1@ 2
Hiv 4k 25 1& 1
BR—bk AR —k W=150S m 15.0
TEEND ST
BLKEMZT HPPE(E%) L=5.00m ¢ 50 PN 4 24mPn R (FR4mfE )
@50 HiVP(EE&) L=4.00m ¢ 50 PN 4 18m# &% (& 2mfE A)
EFV47 vk @50 & 4
EFRUF ® 50 x 45° {(E] 4
AHEBE (V) 50 X 45° 1& 4
VEPEEMLS ¢ 50 {(E] 2
E&Virvb @50 % ¢ 40 & 2
BLKEMZT HiVP(EE&) L=4.00m ¢ 40 PN 2 8m7 &% (5%0m)
40 AHEBE (V) b 40 x 45° 1& 4
VEPEEMLS ¢ 40 {(E] 2
BR—bk AR —bk W=150S m 480 24+18+8
TURFRET BRRTUF @50 = 4
¢ 50(P—V) BRLHFVTIkP) ¢ 50 & 4 A2a7it
BRLAVTIE (V) @50 & 4
TtUH=E H=600 #H 4
HAKkgBET YRILFERKIEERUBER) @50 ¢ 25 1@ 1 a7 — KA
BLAHBF 25 & 1
HiVP  L=4.00m ®25 PN 1
HiTJLAR 25 1@ 2
Hiv 4k 25 1& 1
BR—k BARY—bk W=150S m 2.5 2.5m x 14




FHE

IRHRA &% & B | HONE | EEHE| B 5 &
T RAT2 5 R4
BLKEMZT RUZFLUERRT @50 m 86.0 70+16
¢ 50(P) RUZFLUEUET ¢ 50 A 8
E-—ILEHHT @50 m 2.0
ANZHILHBFE T (P)(V) ®50 O 18
RUZFLUEMFI(RERS) | ¢50 10#F | &rr 14
RUIFLOERFT (MEES) | 6150 20#F | & 4
EHR—F BRI —b m 88.0 70+16+2
HOFHRBELT  |HUIFHRET ®50 = 2
$50(P—V) HENORERCAAES ¢ 50 ] 4
RUIFLUEHFT @50 ] 4
FEHZET H=600 #A 2
BERE 54 2
HwAKkoBET YRILHKRBETL KRYER $150% 20 1@ 5 a7 — A
PR HMERLAAT $20 A 5
}50% ¢ 20 E-—LERERT ¢ 20 m 12.5 14 % 2.5m
TSH#EFET ®20 O 30
KB T YRILHKRBETL KRYER @50 ¢ 25 1@ 1 a7 — A
PR MERLCIAAHT $ 25 A 1
}50% ¢ 25 E-—LERERT ¢ 25 m 25 14 % 2.5m
TSH#EFET ®25 O 6
BRS—bk AR —k W=150S m 15.0
TEED S TR
BLKEMZT RUIFLUERSRT @50 m 240
@50 RUZFLUEUET $ 50 a 3
E-—ILEHHBT @50 m 18.0
ANZHILHBFE T (P)(V) ®50 O 12
TSH#EFET @50 O 2
BLKEMZT E-—ILEHHT ® 40 m 8.0
@40 ANZHILHFE T (P)(V) ® 40 O 12
TSH#FT ¢ 40 A 2
BR—bk AR —k W=150S m 50.0
HOFHBELT  |HEUIFHRET ®50 = 4
$50(P—V) HENORERCAHES ¢ 50 ] 8
RUIFLUEHFT ¢ 50 ] 8
FEHZET H=600 #A 4
BERE L5'd 4
YRS KRFETL KRUER $75% ¢ 20 & 1 a7 —{KE
Z;)’iﬁ;’gf MELLAHT $20 = i
N=144 E-—LEHHKRT ¢ 20 m 25
TSHEFET @20 O 6
BR—k BRI —k W=150S m 15.0 2.5m X 64
K ELBR
HKEABR BKAERT WKERE A 0.069 H =L/2000




T T % E %

% ¥ AR oy B BEthE
FET2S 185
BLKEMEXL H=800 | HFED 060 m x 0723 m X 20 m = 087 m3
IR T H=800 %ﬁ@@ 060 m 0723 m 750 m = 3254 m3
H=800 | KRE® 060 m 0923 m 110 m = 609 m3
L 3949 m3 40
H=800 | ErE®D 060 m X 0263 m X 20 m = 032 m3
BEEL TR Ty H=800 | KRE®Q 060 m 0263 m 750 m = 1184 m3
H=800 | EFE® 060 m X 0263 m X Mo m = 174 m3
o 13.89 m3 10
H=800 |BFE(D®D 060 m 0290 m 770 m = 1340 m3
HHWERLI(FEEL) | H=800 | ¥E® 060 m x 0490 m X 110 m = 323 m3
BE 16.63 m3 20
HIMET 39.49 - 13.40 /0.9 = 2461 m3 20
TERET t=10cm | RC-30 060 m x 880 m = 5280 m2 53
LtE®ET t=8cm M-30 060 m X 880 m = 5280 m2 53
RAsTHET t=3cm FRAL 060 m x 880 m = 5280 m2 53
AEIHAsSHET t=4cm 2k o1l 080 m x 130 m = 1040 m2 10
AsEAZEM UI#T T t=4cm 1300 m x 40 & = 520 m 52
AsSHEERRRER T t=4cm 080 m X 130 m A = 1040 m2 10
RAsTHEEhR B T 060 m x 130 m B = 780 m2 8
AsEHELER- LN T AX0.04 + B %003 = 065 m3 0.6
BB T |MWEET H=800 | ERE®D 060 m X 0723 m 150 m = 651 m3 7
HWHERLIGARFYY)| H=800 | BFE®D 060 m X 0263 m X 150 m = 237 m3 2
MBIERLIT(34ELT) | H=800 | ErED 060 m X 0290 m X 150 m = 261 m3 3
HIMET 6.51 - 261 /0.9 = 361 m3 4
TE®RET t=15cm | RC-30 060 m X 150 m = 900 m2 9
EE®ET t=12ecm | M-30 060 m X 150 m = 900 m2 9
D 5T
BKEMET MR BRI T stooAEJr&'ﬁE@ 060 m x 0723 m X 500 m i 21.69 m3
= = 21.69 20
BEEL TR Ty H=800 I WE® 060 m X 0263 m X 500 m = 789 m3
&t 7.89 3
MR T ) stooMJrErﬁE@ 060 m X 0290 m X 500 m = 870 m3
= 8.70 9
HIMET 2169 m3 - 870 m3 / 0.90 = 1202 m3 10
TERET t=15cm | RC-30 060 m x 500 m = 3000 m2 30
EE®ET t=12cm | M-30 060 m X 500 m = 3000 m2 30
RAsTHET t=3cm FRAL 060 m x 500 m = 3000 m2 30
AEIHAsSHET t=5cm 2k o1l 080 m x 500 m = 4000 m2 40
AsEHZERUI#T T t=4cm 50.00 x 4.00 = 2000 m 200
AsTREERBER T t=4cm 080 m X 500 m = 4000 m2 40
RAsTHEE R T 060 m x 500 m B = 3000 m2 30
AsEHELER- LN T AX0.05 + B x 0.03 = 290 m3 3
BB T |MEEET H=800 | BFE@® 060 m X 0723 m X 25 m = 1.08 m3 1
HWHERLIGARFYY)| H=800 | KFE® 060 m X 0263 m X 25 m = 039 m3 0.4
MBIERLIT(4LT) | H=800 | HTE® 060 m X 0290 m X 25 m = 044 m3 0.4
HIMET 1.08 - 0.44 /0.9 = 060 m3 0.6
TERET t=15cm | RC-30 060 m x 25 m = 150 m2 15
EE®ET t=12cm | M-30 060 m X 25 m = 150 m2 15
RAsTHET t=3cm FRAL 060 m x 25 m = 150 m2 15
AEIHAsSHET t=5cm 2k o1l 080 m x 25 m = 200 m2 12
AsEAZEr UI#T T t=5¢m 2.50 x 4.00 = 100 m 10
AsTREERBER T t=5cm 080 m X 25 m = 200 m2 12
RAsTHEEhR B T 060 m x 25 m B = 150 m2 9
AsEHELER- LN T AX0.04 + B %003 = 013 m3 0.1




040 HiVP El K & U] A&
UEE (m)
=3 S s Jurae E%(m) @Jlﬁﬁ‘j:
AR B0 ERE zu . K &
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
1 HiVP 40 4. 000 2. 000 2. 000 2. 000 1
2
3
i 4. 000 2. 000 2. 000 2. 000 1
4. 000 2. 000 2. 000 2. 000 1. 000




$50 HPPE Jd /K & Y] &

BEE  (m) \
oW F R |0 ERE S P (m) UL W =
-1 2.2 Z.-3 Zi—4 -5 ) (O5=) ()

HPPE 50 5. 000 3. 000 1. 000 0. 500 0. 500 5. 000 3 TR 2 5 R At
HPPE 50 5. 000 1. 000 1. 000 1. 000 1. 000 1. 000 5. 000 4 EELIPAS S TYN
HPPE 50 5. 000 5. 000 5. 000 FERT2 B4t

; =
HPPE 50 5. 000 1. 000 1. 000 1. 000 1. 000 1. 000 5. 000 4 %ﬂiﬁé"fg
HPPE 50 5. 000 5. 000 5. 000 AR I A
HPPE 50 5. 000 5. 000 5. 000 H D I SR
HPPE 50 5. 000 5. 000 5. 000 N
HPPE 50 5. 000 5. 000 5. 000 H D I SR

g 40. 000 30. 000 3. 000 2. 500 2. 500 2. 000 40. 000 11

40. 000 30. 000 3. 000 2.500 2.500 2.000 40. 000 11. 000




¢50 HiVP fid K & b & &
UEE (m)
7%%E (m) Gl T
=) forcs Vo =
AR B RO ERE zu . K &
5}
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
) FRET2 AR At
HiVP 50 4. 000 1. 000 1. 000 1. 000 1. 000 4. 000 3 PN
HiVP 50 4. 000 3. 000 1. 000 4. 000 1 TR0 I AR
HiVP 50 4. 000 4. 000 4,000 B ISNRIA
HiVP 50 4. 000 3. 000 1. 000 4. 000 1 TR0 I AR
HiVP 50 4. 000 4. 000 4,000 AL B AR
i 20. 000 15. 000 3. 000 1. 000 1. 000 20. 000 5
20. 000 15. 000 3. 000 1. 000 1. 000 20. 000 5. 000




040 HiVP fid K & b & &
UEE (m)
%4 (m) Y 1T
=] forcs Vo =
AR B RO ERE zu . K &
5}
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
1 HiVP 40 4. 000 2. 000 1. 000 1. 000 4. 000 2 ER0 B T
2 HiVP 40 4. 000 2. 000 1. 000 1. 000 4. 000 2 R0 B A
3
i 8. 000 4. 000 2. 000 2. 000 8. 000 4
8. 000 4. 000 2. 000 2. 000 8. 000 4. 000




